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1. Identify the property by which the two given triangles are congruent
D M

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency

2. ldentify the property by which the two given triangles are congruent
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency

3. Identify the property by which the two given triangles are congruent

(i) SAS Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency

4. ldentify the property by which the two given triangles are congruent
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(i) RHS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) SAS Congruency



5. Which of the following are true?

a) Any two circles are congruent.
b) Any two squares are similar.

)

)
¢) Any two circles are similar.
d) Any two triangles are similar.
)

e) Any two triangles are congruent.
f) Any two squares are congruent.

(i) {b,c} (i) {a,b} (i) {ef,b} (iv) {a,cb} (v) {d,c}

6. Which of the following are true?

a) A sector is a polygonal region.
b) A triangle is a polygonal region.

)
)
c) A square is a polygonal region.
d) A circle is a polygonal region.

)

e) A semi-circle is a polygonal region.

(i) {a,b} (ii) {d,c,b} (iii) {e,a,b} (iv) {b,c} (v) {d,c}

7. Which of the following are true?
a) If two figures are congruent, then they are similar too.
b) If two figures are similar, then they are congruent too.

)

)
c) Congruent figures have same area.
d) Similar and congruent are not synonymous.
)

e) Similar figures have same area.

(i) {b,a,c} (ii) {b,a} (i) {a,cd} (iv) {ec} (v) {b,ed}

In the given figure, points F , G and H are the mid-points of sides DE, EC and CD of ACDE. Which of the following
are true?

a) AHDF = ACHG

b) ACHG = AFGH

c) ACHG = AFHG

d) ACHG = AGFE
)

e) AHDF = AFGH
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(i) {c,d} (i) {c,b} (iii) {a,b,d,e} (iv) {c,e,a} (v) {c,a}



9. In the given figure, which of the following is true?

C S
|
T U

D E

(i) ACDE = ATUS (ii) ADEC = ASTU (iii) ACDE = AUST (iv) ACDE = ASTU (v) ACDE = AUTS

10. In the given figure, AABC = ATSR. Which of the following are true?

a) LA = LR
b) LB = LS
c) LC= LR
d) BC = SR
e) BC=TS
R
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(i) {a,b} (i) {e,c} (i) {b,c,d} (iv) {a,b,c} (v) {aed}

11. In the given figure, ADEF = ASRQ. Which of the following are true?

a) LQ =74°
b) LR = 41°
C) LS =41°
d) £S =74°
e) LR = 64°
f) £Q = 64°
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(i) {e,af} (ii) {cb,d} (ii) {c,d} (iv) {a,b} (v) {b,df}



12. In the given figure, AABC = AUVW. Which of the following are true?

a) WU =11cm
b) UV =13 cm
c) VW =13 cm
d) UV =15cm
e) VW =15 cm
f) WU =13 cm
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(i) {d,a,b} (ii) {a,b,e} (iii) {d,b} (iv) {f,c.e} (v) {c,a}

13. In the given figure, which of the following is true?
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(i) ALON = ALMN (ii) ALNO = ANLM (iii)) ALNO = ALMN (iv) ALNO = ALNM (v) ALON = AMNL

14. With the data in the given figure, AKLN = AKMN by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) not congruent



15. With the data in the given figure, AOED = AOCB by which property?
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(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SSS Congruency

16. With the given data in the figure, AIHK = AJGK by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) not congruent

17. With the given data in the figure, ALMN = ANOL by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

18. With the given data in the figure, ADEF = AGFE by which property?
D G

X

=1
-

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency



19. With the given data in the figure, AUCD = ATDC by which property?
B
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) not congruent (v) SSS Congruency

20. With the data in the given figure, AHKO = AlJO by which property?
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(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SAS Congruency (v) SSS Congruency

21. With the data in the given figure, AADC = AABC by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency

22. With the data in the given figure, APKL = AOLK by which property?
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) RHS Congruency



23. With the data in the given figure, ATI] = AUJI by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) not congruent

24. In the given figure, AECD is an isosceles triangle. BF L CD passing through E. ABEC = ABED by which property?
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(i) SSS Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) not congruent (v) ASA Congruency

25. In the given figure, GHIJ is a square and AQGH is an equilateral triangle. AQJG = AQIH by which property?
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) RHS Congruency



26. With the data in the given figure, AJKM = AJLN by which property?
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(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) RHS Congruency

27. With the data in the given figure, ACFD = ACFE by which property?
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(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

28. With the data in the given figure, AGIH = AHJG by which property?
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(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

29. With the data in the given figure, AJKN = AJLM by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) SAS Congruency (v) not congruent



30. In the given figure, AEFG is an obtuse angled triangle. AEFH = AGFH by which property?
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

31. With the data in the given figure, AEOF = AEOG by which property?
E

F G

(i) SAS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency

32. With the data in the figure, AADB = ACDB by which property?
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency



33. With the data in the figure, ABEC = ABED by which property?
B

(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency

34. With the data in the figure, ALOM = ANOM by which property?
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(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency

35. With the data in the figure, ALMO = ALNO by which property?
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(i) not congruent (ii) ASA Congruency (iii) RHS Congruency (iv) SAS Congruency (v) SSS Congruency

36. With the data in the figure, AORP = APQO by which property?
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(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency



37. With the data in the figure, AADB = AADC by which property?
A

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

38. With the data in the figure, ABOC = AEOD by which property?
E D
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency

39. With the data in the figure, AGHJ = AHGI by which property?
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(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) RHS Congruency

40. With the data in the figure, AHJK = AJHI by which property?
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(i) not congruent (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) SSS Congruency



41. With the data in the figure, ACFD = ACFE by which property?
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(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

42. With the data in the figure, AADB = ABCA by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) ASA Congruency

43. With the data in the figure, AGOH = AIOJ by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

44, With the data in the figure, ACOD = AEOF by which property?
E
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(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency



45. With the data in the figure, ABCE = ACBD by which property?
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(i) SSS Congruency (ii) SAS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency

46. With the data in the figure, ABCE = AFDE by which property?
B

(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

47. With the data in the figure, AJKM = ALKM by which property?
J
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(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) ASA Congruency

48. With the data in the figure, AFG] = AGFK by which property?
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(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency



49. With the data in the figure, AHJK = AHJI by which property?
K
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(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency

50. With the data in the figure, AFJI = AGJH by which property?
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency

51. With the data in the figure, AKLO = AKMP by which property?
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(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent

52. With the data in the given figure, ALMO = ANMO by which property?
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(i) not congruent (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency



53. With the data in the given figure, AMNP = ANMO by which property?
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(i) not congruent (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency

54. With the data in the given figure, APQS = ARSQ by which property?
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(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) ASA Congruency

55. With the data in the given figure, APQS = ARQS by which property?
R

P Q
(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency



56. In the given figure, which pair of triangles are not congruent ?
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figl fig 2

(i) fig2 (i) fig1 (iii) fig3 (iv) fig4

57. In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
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(i) figl (i) fig3 (iii) fig2 (iv) fig4



In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
figl fig2

(i) fig2 (i) fig3 (i) fig4 (iv) fig 1



Assignment Key

1) (iii) 2) (ii) 3) (iii) 4) (i) 5) (i) 6) (iv)
7) (iii) 8) (iii) 9) (iv) 10) (iii) 11) (v) 12) (ii)
13) (ii) 14) (iii) 15) (iii) 16) (iv) 17) (iii) 18) (iv)
19) (iii) 20) (iv) 21) (ii) 22) (v) 23) (ii) 24) (ii)
25) (iii) 26) (iii) 27) (iv) 28) (iv) 29) (ii) 30) (iii)
31) (iii) 32) (i) 33) (ii) 34) (ii) 35) (i) 36) (ii)
37) (i) 38) (i) 39) (ii) 40) (i) 41) (ii) 42) (iv)
43) (iv) 44) (ii) 45) (iii) 46) (i) 47) (ii) 48) (ii)
49) (iv) 50) (i) 51) (v) 52) (i) 53) (i) 54) (ii)
55) (ii) 56) (iii) 57) (i) 58) (iv)
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